Peertechz

a
Za
<>
»n ©
O x
=@
< ¥
=Q
w »n
T >
E I
<o
=

Commentary

ANNALS OF . )
Mathematics and Physics szsus

ISSN:  2689-7636 |l DOI: https://dx.doi.org/10.17352/amp

Received: 07 February, 2022
Accepted: 20 May, 2024
Published: 21 May, 2024

Comme nt: Paper on the progres S *Corresponding author: Ling Xie, Institute of Cosmic

Mathematical Physics, Basic Concept Definition
Discipline Room, Dongkou Bamboo City Center Hospital

Of pure mathematics "prOOf Of 3X in Hunan Province, China, E-mail: 29997609@qq.com,

+ 1 conjecture"

xieling1968@hotmail.com
Keywords: 3X+1 conjecture; Logical error

Copyright License: © 2024 Xie L. This is an open-

Ling Xie* access article distributed under the terms of the
Creative Commons Attribution License, which permits
Institute of Cosmic Mathematical Physics, Basic Concept Definition Discipline Room, Dongkou unrestricted use, distribution, and reproduction in any

Bamboo City Center Hospital in Hunan Province, China

Abstract

medium, provided the original author and source are
credited.
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The unresolved problem in number theory: the 3x+1 problem, deeply loved by math enthusiasts. | saw a paper titled "Proof of 3x+1 Conjecture" in the Journal of Pure

Mathematical Progress (ISSN Print: 2160-0368), and its proof was incorrect.

Introduction

The 3x+1 problem [1,2] is one of the unsolved problems in
number theory.

A lot of people have been attracted to solving the problem.

Paper in the Journal of Pure Progress in Mathematics
on "Proof of the 3X+1 Conjecture" [3], the proof of it [3] is
incorrect.

There are two errors, the first is a correctable error and
another is a fatal mistake.

Detailed comments
Modifiable errors

Extraction part (i): See the top section on page 15 [3].

Proposition 1 : 4" < Cy(re zt ), and its row number n = 47
Proof : 4" —a—a@ o2 cyp=a ey @77 2y

3 (2"1 +1) o] ~(2’_1 —1), put3 |2

1 4 -1

3|(2r"1 —1)(2"1 + 1)-
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Letd” —4=6(n-1) (nez’)-
4" =6(n-1)+4-
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4 eCy- ()]
o eZ+
-1 -1 -1
~ {3 |(2r +1)><(2r )X(Zr -1)} Inaccurate
vr=lefre Z1)
= (21_1 + 1) X (21_1 ) X (21_1 - 1) # An integral multiple of 3
Only:1<re Al

= {3|(2r‘1 +1)>< (2r‘1)x(2r‘1 —1)

Correction method: setting 1<reZ*
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Non-modifiable fatal errors

Extraction part (ii): See the lower end of page 11 and the
upper end of page 12.

1 2 3 4 5 6 4

7 8 9 10 11 12 10
=

6n-5 6n-4 6n-3 6n-2 6n-1 6n 6n-2

(if)

The fourth column in Figure (ii): 6n-2

{4,10,16,22,28,34,40,46,52,58,64,...,(6n1-2),...}e(6n-2)
(1)

The first line, n=1, (6n-2)=4

The second line, n=2, (6n-2)=10

The third line, n=3, (6n-2)=16

The author takes n as the serial number of each line.

The original author added: (6n-2) = 6(n-1)+4, This is
correct

Author's formula: 4'= 6(n-1)+4, There will be mistakes.
Extraction part (iii): See the top section on page 15.
S47=6(n-1)+4

“47eC,

The following mathematical induction proves that row

r—1

4 -1
! ?(reZ-i-)-

numberof 4'is 4" —

-1 4 -1 )
Proof: 1) As r=1,n=4 ————=1, the conclusion
is correct.

2) It is assumed that the conclusion is correct as r=s(seZ*,
s>1), that is

s—1

_ -1
4 —ed T T s (iif)
3

Let's look at n=2. The second line gets: 4" =6(n-1)+4=10
=4 =10=>r1¢Z"

Conflict with reZ*. See: (i).

Let's look at n=3. The second line gets: 4'= 6(n-1)+4 = 16

= 4'=16 =2 =reZ’
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Let's look at n=4. The second line gets: 4" =6(n-1)+4=22
=4I =22=re

Conflict with reZ*.See: (i).

The truth is:

From formula (1):
14,10,16,22,28,34,40,46,52.58,64,...,(6n,-2),...}e(6n-2)

14,10,16,22,28,34,40,46,52.58,64,...,(6n -2),..}e(6n-2)
e4".

(6n-2)=6(n-1)+4 # {4,16,64,...4",...} €4F

Many numbers are missing: {10,22,28,34,40,46,52,58,...}
{10,22,28,34,40,46,52,58,...} ¢4".

472 6(n-1)+4=6n-2

4" e C,

When the author [1] chooses n as the serial number and
(1<reZ*) cannot obtain:

6(n-1)+4=4c C,
Get: The author did not prove (3X+1).
Conclusion

If in [3] the author corrects the second error, then [3] the
author's method cannot prove (3X+1).
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